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Calculate a + b and output the sum in standard format -- that is, the digits must be separated
into groups of three by commas (unless there are less than four digits).Each input file contains
one test case. Each case contains a pair of integers a and b where -1000000 <=a, b <=
1000000. The numbers are separated by a space.
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printf("%d,%3d,%3d",m, k,left);
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printf("%d,%03d,%03d",m,k,left);
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if(sum<=-1000000) printf("%d,%03d,%03d",m, -k, -left);
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int a,b,sum,temp,m,k,left;
scant("%d %d",&a,&b);
sum=a+b;
temp=absisum);
if(temp>=1000888)
1
m=temp/l3E28853;
k=temp/le&8%1888;
left=tempklasa,
if(sum>@) printFf("%d,%83d,%63d",m,k,left);
else priptF("%d,®¥83d,%083d",-m,k,left);
1
else if(temp>=1688)
i
k=temp/leea,
left=tempRless ,
if(sum>8) print+{"®d,®83d",k,left);
else printf{“®d,®83d",-k,left);
H
else printf{"%d",sum);
return 8;
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